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If him her them” s written as de ne ke’ and
'do him why' as ‘ne 1k ir' and ‘are they do' as
sh fu Ik, then 'do’ is written as -

(A) ne 13) fu

() Tk (D) ir

Which one of the following is not 8 member
of Cabinet Mission ?

(A) Lord Patrick Lowrence

(B) Sir Stafford Crippn

(C) A. V. Alexander

(D) Mount Batten

With respect to armed police, an Inspectorf
Sub-inspector commands g

(A) Section (B) Platoon

(C) Battalion (D) Company

From Lhclgiven answer figurcs, select the
one in which the question figure is hidden/

embedded.
o

i

a) b)
(A) d (B) a
€] b D) ¢

The HDI ranking of India a¥brding to 2020

UNDP HDI report is

(A) 136 (B) 130

(C) 131 (D) 182
Out of 6 boys and 4 girls, agra-upu}l'? is to be
formed. In how many ways can this be done
if the group is 1o have a majority of boys.

(A) 120 (B) 90

(C) 100 (D) 80

Whichof the followingis a certification
mark employed on agricultural
roducts in India by the directorate

p
of Marketing and Inspection ?
(A) AGRMARK (B) AGMARK

(C) AGPMARK (D} None of the above
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1T him her them' @ ‘de ne ke’ aftt
. ‘do him why' ® ne [k ir", ‘are they do’' # 'sh
fulk’ G, @ dor @ FromEme
(A) ne (B) fu
AC) 1k (D) ir
T ftfetian i @ i e fara v A B 7
(A) ©id AR itw
(13) w 2w fag
(C) u. . vewE
(D) uT32 dzq

3. v gfem & A, T fattas [IuFlas
s masmEmi -

(A) 3qumM (B) =

IC) (D) Tt

a. @i aw sogfed A 8, T8 g I fwd o=

7 syt gh ¥/emfa R
:
o

A) d (B) a
(C) b D) ¢
5. 2020 oA @ f. vad.a. i & sigEn e
At W
(A) 136 (B) 130 %
(C) 131 (D) 182

6. ocugkinsaefmididsmmapame)
" a R @ o < e & R g e Y
/ e AUF A

(A) 120 (B} 90
(C) 100 (D) 80
'r./iﬁﬁrﬁvﬂﬁﬂﬁ:miq;ﬁ\mmmm
Ry REarer g it wrflew e ?
{A) AGRMARK (B) AGMARK
(C) AGPMARK (D) I0ad BARE T
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11.

12.

13.

14.

18.

Consider the following stateme
PENCIL portal of Mingltry of Lnnl::u? m
Employment of Central Government,

1. It is an online platform that aims at
engaging the Central Government, State
Government, Distnict, Civil Society and the
Public in eradicating child labour 1o achicve
the target of child labour free society.

2. This portal enables the citizens to raisc
a complaint and report incidents of
child labour through effective tracking
and monitoring mechanism,

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are correct
(D) None of the above

A typical angiosperm embryo sac, at maturity,
though 8-nucleate is

(A) 6-celled
(C) B-celled

The powers of the Panchayat are listed in
(A) 12* Schedule (B) 11™ Schedule
(C) 4* Schedule (D) 9™ Schedule

Name the State which succeeded in the efficient
implementation of milk co-operatives.

(A) Karnataka (B) Gujarat

(C) West Bengal (D) Maharastra

If you start your journey on 22" June 2003,
what will be the day of the week after 7 days J

(B) 7-celled
(D) 9-celled

of your departure ?

(A) Saturday (B) Monday

(C) Friday (D) Sunday "
In which year did Napoleon Banapm’té crown
himself as the Emperor of France ?

(A) 1799 (B) 1802

(C) 1815 (D) 1804

United Nations High Commissioner for
Refugees (UNHCR) headquarters at

{C) Rome, [taly
1 1 1 3
— —_— - -B?
334-5 135+55
1
(A) 213 (B) 18‘2'
(©) 193"- (D) None of these
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wmwmmmﬁﬁu’mmﬁl
2. qg e AieET F) Tt erErgE 3
Frrrert ot & wream @ aret s ) wers
o) fersrera i fedré a3 @ wem @ |
(A) FEAHTH | FA R
(B) Fad & 2 WA B
(C) At @ 1 s 2w &

(D) I A @ & 78
9. it iy W 8-fan w AT
¢ et e &
ey (A) 6RRmGE () 7R
% (C) 8-t & (D) 9-Fftr AN
19--f‘m@mmmu
(A) 12 91 s ) 11 d g
(o) 4 () 9 = I
Tl  Frat=aa i Farm T 3 G BT
- H, T |
(B) ToH
ﬁqﬁmm (D) FETTE

12 ST M 22 SF 2003 F I TH GE FE 8, @

< m@twﬁ?ﬁﬂtmmm - ®
(A) TiFaT (B) R 25
(C) T oy dam C

13, ifera e 3 fem ad wa @ wiE @ R
vt firan 7
(A) 1799 (B) 1802
(C) 1815 (D) 1804

14 vl ¥ R wEw U I (,9.79.6. 3K )
AT el 7

) A, fegeefes  (B) Reell, wie
(C) T, ye=ht (D) Joia & & o 7
1 _1 .1 _3
16. .;8E+5:u13§+6§=?
W 31% (B) 13% m
1 L
() 193 (B\ﬂﬂﬂ ;m‘.
N N
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17.

18.

al.

13

dheTiis aaan

P R T TN e

A projectile can have the same range R for two
angles of projection. Ift, and t, be the ime of
flights in the two cases, then the product of
the two time of flights is proportional to

T (B) R
1

R
iC) R’ D) '“_2-

The extended observauon ef the sociol
perspective and cultural values of an entire
socinl aetting is termed ns

(A] Interpretive (B) Ethnography
(C) Phenomenology (D) Narrative

In a row of girls, Rita and Monika occupy
the ninth place from the right end and tenth
place from the left end, respeclively. If they
interchange their plocen, Rita and Monika
occupy seventeenth ploce from the right and

eighteenth place from the left, respectively.
How many girls are there in the row ?

|A) 25 {B) 26

{C) 27 (D) Data inadequate

A 7 T ’ -

5T i
-5

C *eul

How many o tic suuses: vuues 1ave exaclly
B) 16

three colored foces ?
e

(A) 8
{C) 14
What are the pans of each single Carpel ?
{A) Stigma, Pedicel

(B) Stigmn, Petal, Tepal

(C) Stigma, Style and Ovary

(D) Stigma, Style

MICR stands for

(A} Mechanical Ink Character Reader
(B) Mechanical Ink Code Reader

(C) Magnetic Ink Character Reader

(D) Magnetic Ink Code Reader

To which country did Herodotus belong ?
{A) Irish (B) Germany
(C) England (D) Greek
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23. A car travels a distance of 75 km
the speed of 25 km/hr. It covers the next
25 km of its journey ot the specd of 5 km/hr
and the last 50 km of its journcy oy the speed
of 25 km/hr. Whot is the average
the car ?
(A} 40 km /hr (B) 25 km/hr
(C) 1S km/hr (D) 12.5 km/hr
24. Which of the following is not an expansion card 9

(A) Complementary metal-oxide
semiconductor (CMOS)

[B) Personal Computer (PU) card
(C) Modem
“SYD) Video card

speed of

28. Sheet crosion takes place on which type
of lands after a heavy shower and the ;aoil
removal is not easily noticeable, but it is
harmful since i removes the finer and more
fertile top sail ?

(A) Hilly lands (B) Coustal land
{C) Level lands (D) All of the above

26. Creation of new individuals in unicellular
organisms is by
(A) Fission (B) Fusion
(C) Sexual reproduction (D) Phylogamy
27. Select the correct mirror image of the given
figure when the mirror is placed at line AB.
A

12w1adgoan

B T
1A) ROOIPAMZI (B) BOOghAWCI
(C) 13mEgqEO08 (D) BOOgbIAWLI

28. The first railway steamed off in India from
Mumbai to Thane in 1853 covering a total

distance of
(A) 34 kms (B) 75 kms
" (C) 78 kms (D) 53 kms
, 29. Identify the missing numbers.
9 11 13
13 15 17
10 12 14
L 1 z
] - ?
(A) 22,20 (B) 14,18
() 12,13 (D) 18, 15

i

X

(74
- -"fL
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(A) 40 Bf) form iy 25 fEhan T,
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(w30, va )
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(18]
D) e
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L)
-

TA R g IMmR 7
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C) T g D) TR o

26/ wefifgfiinddatem o
#m
(B) ¥TA

i
b-eet] D) Trfage

27 R srgfy @ WA win s g

e R @ AB R ara |
A
12wEdg008E
B
(A} BOOIPAMZI (B) 800sbIWSIL
(C) 1SMESRO08 (D) BOOZbIWS]
as/—’ﬁmimFﬁ“ta'&i 1853 A gad & U 7% FA
fEah g a7
(A) 34 fasft (B) 75 faf
() 78 fafh () 53 ffr
29. 9@ WG B g w |
W Lo I i 13
13 | 15 7
10 ' ) 14
_Jh'l Pt
i (A) 22, 20 = (B) 14, 18
1) 12,13 (D) 18, 15
13
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32.
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34.
|
‘ 35.

| 36.

P

37.

13

|

B

If 30 persons consume 240 kg of rice
in 15 days, in how many days will
30 persons consume 48 kg of rice ?

3
(A) 6-]- days B) 3= days
4 4

(C) 4 davs (D) 9 days

As per Reserve Bank of India (RBI), Account
Apprepsator 1s g

(A) Non-banking linancial company @355
(B} Banking inancial company %‘é
IC) Insurance company :
(D) Credit borrower company

Most important ecologically relevant
environmental faclor is

(A) Temperature
(C) Water

(B) Light
(D) Soil

In pre-independent India who was the first

to discuss the concept of a poverty line ?
(A) Dadabhai Naoroji
(B} Gopalakrishna Gokale

(C) Vinobha Bhave b
D) Vinoda Bai 7

. . -
is a special software that e:qykslca
users to read/view web pages ag@)jump
from one web page to another,

(A) Web server (B) W@ffnwacr
(D) M& page

(C) Web site
The sum of the first 20 2rms of the series
549+ 13417+, is

-

(A) 800 (B3) 850
(C) 860 (D) 870
A man walks from his house towards north
and covers 15.5 km and then turns left and
travels 7 km. He then tums left again and
after travelling 31 ke again turns left and
stops alter travelling 7 km. How far is he
from his house 2
{A) 46.5 km (B) 15.5 km
(C) B.5 km (D) 60.5 km
Aschelminthes is circular in cross-section,
hence, the name
(A) Roundworms (B) Flatworms
(C) Pinworms (D) Plateworms

-6-
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38. Two point charges exert on each other a force
F, when they are placed r distance apaort in
air. When they are placed R distance apart
in medium of dielectric constunt K, they
exert the same force. The distance R

. equals
B r
(A) ﬁ (B) =
(C) rK (D) /K

39. The tectonic plate ‘Nazca'is situated between
(A) Central America and Pacific Plate
(B) South America and Pacific Plate
{C) Asiatic and Pacific Plate

(D) North American and South American Plate

The traffic lights at three different
road crossings change after 24 seconds,
36 seconds and 54 seconds respectively.
If they all change simultaneously at
10:15:00 AM, then at what time will they
again change simultaneously ?

(A) 10:17:02 AM (B) 10:18:36 AM

(C) 10:16:54 AM (D) 10:22:12 AM
41. Choose the right answer, based on the
relationship given in the question.
Clasp : Bracelet
(A) Wrist : Watch (B) Cuff : Trousecrs
(C) Hook : Coat (D) Buckle : Belt Y
42, According to Comte the traditional
method of Sociology is :
(A) Positivism (B) Antipositigdm
(C) Imperialism (D) Relativism
43. Consider the following statements about

United Nations General Assembly (UNGA),
I. The United Nations General Assembly
(UNGA) is the main policy making organ
of the Organization.
2. Each of the 193 member States of the
United Nations has an ¢qual vote.
(A) The statement 1 is correct
(B) The statement 2 is correct
(C) Both the statements 1 and 2 arc correct
(D) None of the above

%4. The profit earned after selling an article for
Rs. 1,754 is the same as loss 'mr.‘unﬂi'aﬁﬂ
selling the article for Re. 1,492. What is the

cost price of the article ?
(A) Rs, 1,589 (B) Rs. 1,523
(C) Rs. 1,689 (D) Re. 1,623

-T-
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382 firg snim v g et § (@A ¢
¥ m@ e § | i 3 qufage Faais K % mmem
# R g v ven s @, @ o 3 oue v e § g

t’%&% R Tt
(A) Tr—- |
K K
(©) X D) K
39, fadfas <tz s FdafEme
(A) T e af weia <2
(B) m arifa afv vy @2
(C) ofivar ¥ e <

(D) Iad&t feh) oi ofirm anifed &2
40. ®R Em-sten de wiim W e TR W
| 2485w, 36 Whe o 54 dEmwmE A S | AR A
wfl TF ¥19 10:15:00 AM W wewa § & 276 @1
R o & ey v ?
(A) 10:32,02 AM (B) 10:18:36 AM
(C). 54 AM (D) 10:22:12 AM

43" SNt <int & man w3 |
TR : JRIe

(& forz : fa (B) %% : ey
(C) §F: ¥ (D) @ : dw2
42, ﬁﬁﬂm?nmﬂmuﬁl
- )
(A) HFTEFATER (B) WRaEaEE
(C) TR D) m&m

43, YT UL HEE (3.3.90.0.) F R § Bafiiea
T W R =t "l, J

1. ® HETEW (gt ) @
mﬁ'ﬁ‘mh{‘t T.) €937 =1 g
2. 93 UL ¥ 193 vee i § & w1 wa
T R

(A) A | R
(B) F94 2 wd @
(C) ¥ 1 3 2 3] wd) §
(P) IR & § o

7,,@;:?&:. 1,754 % 393 & ar iy omw, 3
TP, l.miﬁwﬁrm!qmt i
TG g 7 -
(A) §. 1,580 (B) ¥. 1,523
€1 %. 1,689 D) ¥. 1,623
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46.

47‘

49,

80.

51,

ins 108 m and 112 m in length are
m?n}::; towards each other on the parallel
lines at a speed of 45 km/hr and 54 km/hr
respectively. To croas each other after they
meet, it will take
{A) 10 sec (B) 12 sec
(C) 9 sec (D) 8 sec
Which number will come in the

place of question mark ?
5 7,11,13,17, 19, ?

(A) 23 (B) 25

(C) 29 D) 31

The first Secretary General of UNO
(A) U Thant (B) Trygve Lie

{C} Dag Hammarskjold (D) None of the above

In the question, wo statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

1) Al K are L

2) All Lare M
Conclusjons ;

L AlKis M

II. Some K are not L
(A) Only conclusion II follows
(B} Only conclusion | follows
(C) Neither conclusion 1 nor II follows
(D) Both conclusions I and 11 follows

European Union Naval Force is

IA) NAVFOR (B) EURATOM‘

(C) NUTOM (D) NUKASEN
Taxonomic studies consider \Eroup of
individual organisms with ndamental
sumilarities as a

(Al Taxa (B) Species

(C) Specimen (D) Twin

PCMCIA stands for

(A) Personal Computer Memory Card
Interaction Academy

(B) Personal Computer Memory Cable
Internationa| Association

al Computer Memory Card

Internationa) Association

(D) None of these

Bay of Bengal Initiative for Multi-Sectora|
Technical and i

Economie Co-operati
(BIMSTEC) was established in -
(A) 2000 (B) 1997
(C) 2010 (D) 2001

-8.

h 3 w45 FEdl /e afit 54 fedt
:(aq:ﬁ?ﬁﬂaawtrﬁaﬁ*

e Na /
‘.\ o~ “\

\> "' cMES-gp

108 izt 3t 112 et ward # 2 3H FaETH e

12 UF THL F q
* 9, 3 anm .
(A) 10 &g (B) 12 &%
(C) 9 ¥ (D) 8 #%E

me’ﬂ%amwaﬂ:—%ﬂ#mw@ﬂ?

] %! ;# lg! Iit l?, 3
(AT23 (B) 25

IC) 29

oD

47, 0.3, F vay grafig @9 2 7 am
(A) Y uie JBy femaerd v
& Rareraies (D) 3% & & FY§ 7

48,/ w uw d, 3w fu m # firad qre 2) B fag mo

& 13 e gty o e o @ o e A 8

WY .
nNeaftk, LE) .
)L, MmE 7 .
frasd ; " E
L. K.MR®I \/
AR o
I e
T (B) ¥uw fred | s s g j
© amﬁaﬂ?ﬁnaﬁmﬂ:mt _
@) & el [ R 1 s A E
99, girfig wy fim &
(A) AR AewN M. (B) §gamedshmm
(C) .4 30wy, (D) W.Y¥ vum.vq.
1 ¥ v W #) wn A @ 7
(A) & (B) sranfarat
(C) = (D) Fgai
ym.m_m.#l.ad.q. 1 Haera B '
(A) mmmmmm %
(B) mwmmmm
(©) mwmmmmﬁm
(D) ¥ ¥ ré 3t
2 3% Fe ERRE B e v
7/“ VTIE BART (308w w2 6 )
___._.ifwlﬁUM|
(A) 2000 B) 1997
(C) 201p (D) 2001
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The approach in sociology is actually an
attempt to comprehend social phenomenon
in terms of its connection o the system as a
whole is the

(A) System approach

f8) Functional approach

IC}‘Iumanislic approach

(D) Psychosocial approach

54. Six persons playing a game sitting in a
circle facing the centre. Vijay was to the left
to Sudhir. Amar was between Rakesh and

' Saurav. Neerav was second to the left of

‘C' Amar. Who is second to the right of Vijay ?

(B) Rakesh

(D) Neerav

(A) Amar
(C) Saurav

858. Cyclical changes during reproduction in
sheep are called
(A) Oestrus cycle (B) Menstrual cycle
(C) Sexual cycle (D) Asexual cycle

B6. The standard rules of a polite Internet
behaviour are called
(A) Search engines

,,’)(‘5 (B) Domain
g 74 (C) Netiquette

(D) Post Office Protocol (POP)

87. Which of the following denominatiof ¥f
bank notes issued by Reserve Bank g@¥ndia
was withdrawn from legal tender gpfacter ?

(A) Rs. 50 and Rs. 100
(B) Rs. 100 and Rs. 20
(C) Rs. 500 and Rs. 1000
(D) None of the above

§8. As per Criminal Procedure Code,
1973 Section 2(x), a warrant casc
is one that is related to an offensc
whose punishment can be a death

[ unvanme § 390 area § amtas gfae @ aw
9 1 yorreht & R HEU & g2 1§ auge |
b= B .
(A) woTrefl 3urm
(B) @&raters 3qnm™
(C) wramad 39T

) (D) wramifas I9mm

84.) ¥ sin q@ w0 v e A 43 9 wf@
A g w4 | freg g E at @ )
W vy of da & e d w ) @
swF A w | s

wuk?

(&) 3 B) TE g

(C) dra (D) = m
s5. YHAvRFMEImTER _ #ade |

(A) T (B) wfeud o

(€) = (D) AT R
86 W . o2 SEER F ARG AW

I
" \{A) wd WA

(B) 8

(C) Y%

(D) 9ne ¥ffhw wdrwta (f.aid.)

7 st fead g o feg ome B R 9 @
Preforfas # @ 9 @ grgad & T © s dum
araa e ?

(A) 50 ¥ 3t 100 *9%
(B) 100 ¥ 3f 20 ¥4
(C) 500 ¥ 3K 1000 92
(D) I A {7 T

amnivw 38 wiF d@fem, 1973 ) ym 2 &
AR, AR AN T8 A & < B s A
guftrs @ ® R wn A, sftEs FoEm @

b

sentence, life imprisonment Or 94 # ftw A i F fow s @
imprisonment for a term exceeding gﬁ e
—— . Year (A) 10 B) 2
10 B) 2
@ 3 B 7 1 iy 5
§9. ______ is known as ‘wood spirit". ‘y R ol R F s damame
(A) CH,OH (8) C,H,OH  NGRON (B) C,;H,0H
(€) CH,0H (D) CH,(CH,),CH,OH Ky (D) CH,(CH),CH,OH
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60, The denominator of a rational number is
3 more than its numerator. If the ngmeratnr
is increased by 7 and the denominator is
decreased by 2, we obtain 2. The rational

number is
1 B >
(A) F (B) 8
7 a
(€ = (D) 3

61. What is viability of seeds ?
(A) Presence of temperature
(B) Excretion in seeds
(C) Respiration of seeds
(D) Presence of life in seeda

62. Under the Criminal Procedure Code, 1973,

the can pass any order to prevent

any miscarriage of justice or abuse of the

process in the Indian courts.

{A) District Court (B) Civil Court

(C) High Court (D) Supreme Court
63. How many cuts are required to cut a cube

into 512 pieces ?

{a) 511

(B) 70

iC) 21

(D) Cannot be determined

Directions (Q. No. 64-66) : Study en
informaticn carefully and answer estions
that follow :
I. Six friends P, Q, R, S, T and U are members of
a club and play a different game of Football,
Cricket, Tennis, Basketball, Badminton and
Volleyball.
M. T who is taller than P and S plays Tennis.
[l The tallest among them plays Basketball.
IV. The shortest among them plays Volleyball
V. Q and 8 neither play Volleyball nor Basketball,
VI. R plays Volleyball,
VI T is between Q who plays Football and P in
arder of height.

€4. Whoamong them i taller than R but shorter

than P ?
A Q
B T
v (D) None of these

13
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/s it wom W IEE 3N B3 T o
i ) 7 g R oy 3B A 2 e, g gy

7 2w g @ | i W B
Glpw

" 3 ®)

s D) —
‘c)]u I’ll

61 St ) sragria (sftaa awar) FN B 7
(A) T it Jufefa
(B) W 3 It
(c) =il & ww=
(D) sl # sfam o Fufefa

éa. ¥E yism wfdmn, 1973 % wed,
vt sEred # = % Redt ot miva @ wfien
% gwam @ e & R Wi ofe =

wEm g |
(a) foren wré (B) fafra =¥
(G\, F=9 R (D) Tfm
63 % R 512 g i ek &5 forg Pt e o

}m!?

(A) 511
(B) 70
€ 21
(D) Frafia 7 fn = wem
Rin @. €. 64-66) : TN 9 mf ge B @R A R
e I AR |
1L.8:faP Q,R, S, T U w7 & aew § v
g, ke, 2, ardrata, defies sl aTfata
g g
nTHRrasmsAaae, Radeam e
M, 398 & oo S grekzata daa )
Iv. 398 A o B el daa 8 1
V. Qs yd afcieta s awrzata @ € |
VI. R afclate demd )
VIL. T, Q < gzelter Gern B 3l P ¥ oy & 3 seem 8 1

64, VHAMR-mRATH M pATTE?
(A) Q B T
©u (D) W& {9 ff

b |
m ol

|
|




68. Which of the following statements is not true 7
| (A) Pisshorter than R (B) Q is taller than S
(C) Sistallerthan R (D) Tis tuller than R

66. Whowillbeat the third place if they are arranged
in the descending order of their height ?

; (A) Q (B) P
. %& (C) S D) T
| "67, _______ is used as froth stabiliser in froth
floatation method.
|A) Pine oil (B) Fatty acid
(C) Xanthate (D) Cresol
68. _____ controller is the interface that

enables the computer to read and write
information to the hard drive,

(A) PC card

{B) Floppy disk

{C) Hard disk

(D) Direct memory access

When the species - area relationships
among very large area like entire continents
is analised, then slope of line becomes

(A) Less stecper (B) Vertical

(C) Parabola (D) Much steeper

70. Recommendations regarding Police Reforms
was given by the Committee s
(A} Justice G, Rohini Committee
(B) Justice M. Rajeev Committee
(C) Justice Malimath Committee
(D) Justice G. Raghavendra Com@ﬁh:

71. Who among the Haryana policemen was the
recent recipient of police medal for gallantry ?

(A} Pawan Kumar, Constable
(B} Mahavir Singh, Constable
(C) Sabal Singh, Constable
(D) Minter Singh, Constable

What is the angle between the hour hand
and the minute hand of a clock when the
clock shows 7:24 a.m. ?

(A) 66° (B) 84°

(C) 78° (D) 76°
Who was popularly called as The Father of
Humanism ?

(A} Petrarch (B) Martin Luther
(C) SirThomas Roe (D) Leonardo Bruni

cll-
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65, Frefafgad a dh-m e e TR 7

(A} P,REBRI B @B Q. shTME
C) S, RATWR D) T,REAFE
66, TR 3 T Srd 6w w A ST A N FA
e wum v smen 7 - 1
(A) Q B) P <
©) S @) T e 5
67, w1 wam mm oA fafa # wm fRrad F 7 n
ST Ty \
(A) e F A (B) T@1 an
(C) Sz (D) free
68, fodias v TEUEE § S S F S
S T w ferad ot g ¥ wem wn f |
(A) d.40, wrd
(B) v faem
(C) oid
(D) Tt A vedE

69. 9 uEA 8 & 9 wyel wemdta F wanfR -4 dEw
/ g am e, Agem el _____ @
wri

?u‘imﬁnm (B) I=TW
C) TEw (D) ¥firs A

e gm T wgfat _ sffrgo @ g
(A) dim <ft, afeh wfifa

(B) e . Tefta wfif
(C) s wferwa wfiifa
(D) s <fi. wedig witfa

71,/ e & gl 9 wa @ # e § g

ftra gaw wra gan & 7
(A) T FUR, FRE
(B) wern e, wdwa
(C) wua fim, v ewm
fir i, wigt=w
72,/ 9@ TH WG ¥ 7:24 ¥@: T4 §, o fe ol wreh
g fasvwem?
(A) 66° (B) 84°
(C) 78° (D) 76°
73 LR R R R T .
A T T 7 '
|A) gk (B) =3
(C) W aha D) et i
& 13
A
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74. Monetisation of the government's fiscal deficit ?(‘ | e 4R # g‘ﬁm HIUEE =4 v
may give rise to unproductive spending and i wftora € awm § |

may lcad to (A) gErefifa T (B) arq fae
{A) No inflation (B) Very low inflation
(C) Higher inflation (D) None of these €) Feaat grrehife (D) i & ik 7t
8. _____ method for displaying colour | 750 Ui aefid mtawfa & ffy amw=e:
E;;tnuz:pﬁy;?mmonly used with random argfess @A fewet & g wam ﬁmnamn_ﬁ |
{A) Bmmpmclmtinn (B) Shadow masking (A) Tﬂﬂiﬁ%m (B) 2
(C) Retracing (D) Refreshing () fgfém (D) Fesfim
76. Which of the following is the crop 76 Fafafaa # A #a-dt efearon ft wae Rt
diversification scheme of Haryuna ? aan?
(A) Mera Pani, Meri Dharthi (A) T arft, A s
(B) Mera Pani, Meri Virasat (B) ﬂl‘l‘ﬂ‘ﬁ, %1 faoaa
{C) Mecra Fasal, Meri Virasat (C) % s, af faaa
{D) None of the above u;{ IvirR & Q w6
77. The practice of making a transmissi
T7
appears to come from an nmhorim;::s:on mﬂtﬂfm = ?331‘: g::: A mﬁ
(A) Hacking (B) Spoofi
(C) Spamming (D) SP&m;::gxin (A) ¥ (8) Pﬂﬁll
[ (C) fim (D) EmRfRm
m If a means + ﬂ means -
» ' 'r
@ means «+, then what will bcmt;?:;u:nj' }ﬂ/ FAGR ., B -, Y ¥ 3 x
;:2:.130.,5“10530 2 )@ ¥+, W 30810y 5010820 T 43 T gy 7
81 A CHE T
, 15 Y
79. The formula of i fnes 3 ’ e |07
" nru of production function is ‘ }/ mmw,{’,e 36‘ 30{\, iy
q=1(L, K) (B) q =d(p) (A) q=f(L, K) _,3?(,) "
\m. (©) y = fix) (D) None of & C) y=fn :2' :’ﬂ;!‘;{:}ﬁ 5t
Who is the current Governor of Raf§¥than . S— ' qﬁ
(A) Kalraj Mishra (B) R:m Naik = {‘( & adum Ty e 7
(C) Margarct Alva (D) None of the above (A) o= fiyy (B) w Trés
8L allows user to send a file with ¢-mail. © i (D) IWa T T
'%} g:m (B} Messenger L S %mmmﬁﬁhﬁl
nt (D) Attachments :2: ,g':z (B) s
83. Vice Chancellor of Chaudhg (D) itz
ry Charan Si
Haryana Agricultural University (CCSH;T;B,h 93/ et v fig wfmon Nﬁml,t-[m
(A) Prof. Dr. Bharath CIRACRERE BER =0 cE ST Eﬁ
(B) Prof. Dr. R. D. Karjol (A} R 3. ¥
(C) Prof. Dr. B. R. Kamboj m (B) Wibat &, 3. A, wee
(©) e &, *fl. am. Fav

(D) Prof. Dr. G. T. Gopa
. Whobsconisscesi ol Dymset mla s D) ﬁaﬁmﬁ . <. &. i
winners in Olympic 2021 ? 83 N 3wl 2021 F el v I o e ge frdm
(C) Tek Chand (D) Momiji Nishiyg - ;ﬁ:f" W ©) g st
(D) ffirm

.a .12-
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B4.

87.

Consider the following statements about
Socialism.

1. Socialism refers to a set of Political
ideas that emerged as a response to the
inequalities present in, and reproduced
by, the industrial capitalist econorny.

2. The main concern of Socinlism is how
to minimise existing inequality and
distribute resources justly,

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are correct
(D) None of the above

If with the 3%, 4, 5%, 7 and 10" letters of
the word ‘PERSONALITY’ a meaningful word
is formed, then first letter of the word is

(A) O BT
(C) S (D) R
The term is commonly referred to the

state of being connected to the networked
computer system or Internet.

(A) Upload (B) Online
(C) OMline (D) Browser
Nagaland : Kohima : : Manipur : ?
(A) Imphal (B) Shimla
(C) Gangtok (D) Guwahati

Secondary memory is also called as

(A) Primary memory (B) Main rn:;mg&-
(C) External memory (D) Virtual ory

Consider the following statemems about

tertiary sector of Indian economy. _
1. These are the activities that help in

the development of the primary and

secondary sectors.

These activities, by themselves, do not

produce a good but they are an aid or a

support for the production process.

(A) The statement 1 is correct

(B) The statement 2 is correct

(C) Both the statements 1 and 2 are correct

(D) Both the statements 1 and 2 are

incorrect

In a box the numbers of one rupee, half rupee
and quarter rupee are in the ratio 3 : 4 : 5 and
the total value of the coins is Rs. 100. Find the
number of each kind of coins respectively.
(A) 48, 64, BO (B) 48, 60, 70
(C) 55, 78, 90 (D) 44, 68, 80
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T I LA T

. WEIETE & At 8 Frafaftre wuE o fEmt |
1. =TSR v e & vw age W wehi

R Ta ey

FA1 § S ol gefrard ardeaaen § e |
3fh aE T gEeRfE srewEaE SR :
ey :
2. AuErR H gey fam s 3 6 dem
R @ A =y e wmg v
HansE s 3 faa %8 R |
(A) 99 1 ot B
(B) %4 2 widt §
(C) iwm 1 w2 uh &
D) 3T # & = 7
T Rk wes p N '%3, 4,53 77910
iaﬂﬁ#m%mmn\mmmﬁﬂ
A B (8]
(4) 0 ®) T "&% o 2&5r
C) S (D) R e
W& Eee: ot @
oz A 3 A i farfa @ wehfa g
(A) R (B) HfFare
1O XiwerE (D) TR
v-)ﬁrnﬂz:airh::whg::?
(A) FBTE (B) firen
(C) Y (D) TETEEA
9./ Aaeatl Aurd ot wgedi R |
(A) Sesd (B) &7 Al
(C) @RER Wi (D) TCIHS A

;/mmtmm&miﬁnm
T o fam e )
1. 3 3 viafafimt § 5 mufte 3l wmeafis @3 %

forre o weTam W €
2. ¥ nfafafaat 39 s i arse e Wt

£, A3 3 e wften & wewer sl

s € -Q*:BC
(A) w1 wh & 7L
(B) B2 @h @ “3R

(C) ¥t wam 138t 2 wdlt &
) w1 i 2 St ad vl €
ﬁmﬁmm,mmmmma
W W AE 3 4: SR R mpm g

% 100 ¥ | ¥R v 3 Rl R s W g e
Hif )

(AY 48, 64, BO ®) 48, 60, 70 "
(C) 5,2,'{5 glqo « 1 (D) 44, 68, 80
e 13
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English Language

91. Complete the sentence using .:Eppropri.ntc
tense form from the alternatives given

below it.
Nine years have passed sincc‘his aunt
(A) Had dicd (B) D}cd
(C) Have died (D) Die
92. Find out the misspelt word in the following.
(A) Heritage (B) Ecstasy
(C) Glimpse (D) Di.acﬁption

93. Out of the four alternatives suggested,
select the one which best expresses the
same sentence in Indirect/Direct speech.

Kamal asked me “Did you see the
football match on TV last night”,

(A) Kamal asked me whether | saw the
football match on TV the earlier night

(B) Kamal asked me whether I had seen the
football match on TV the earlier night

(C) Kamal asked me did | see the football
match on TV last night

(D) Kamal asked me whether had seen the
football match on TV last night

94. Below are given idioms each followed by

four alternative meanings, marked (A), (B),
(C) and (D). Mark the one which you thinp~
is the most appropriate.
Knit one's brows

(A) To disappoint somebody

(B) To express contentment

(€) To frown

(D) To have a headache

In the _follo':_lring question a sentence has
been given in Direct/Indirect speech. Out
of the four given alternatives select the one
whnph b&at‘ €Xpresses the same sentence in
Indirect/Direct Speech.
He said to me, "Plea; i i
il 8¢ wait for me here till 1
(A) He requested 1o me to wait for hi
there till he returned, ——
[@) He ordered me 1o wait for m i
he returned, il
(C) He requested me to wajt for him there
till he returned.
‘%{ He told me to wait for him here till he
returms.

98.
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fih wrm
3‘,” e R wEa € 7
(A) Fardram
(B) WYY =
() firan
(D) ¥ & = Tl A

97! gmwmwEdad R
(A) BT
(B) feremefi
(C) w31
(D) T8 & rf 7

9/0./ ‘gheQaa @ i 1" 78 I LGEan
TNRm § |
(A) €Y
(B) ST&H
(C) 3l
(D) ¥% & = 78

¢ wdiE R R R i e d

(A) FhaaTas
(B) Affmas
(C) Afrsmas
(D) ¥ & it Tl

1/94 ‘it A gerEt = o @
(A) T 8

% (B) M =
(C) w

(D) = &




